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Create Date:2021/03/09

H O oH HF HF H O H H H

import math

class ConstSet:
c=299792458/1000*3600 #33&(km/h)

U=7.42426e-31 #FEHIRILF—FEE(km/Kg)
M =1.9891e30 #XEEE (kg)

m = 5.97219e24 #HIRE 2 (kQ)

mp = 1000 #FHEMEE (k)

Re = 149598262 #KG—HBRE R

r =6378.137 #HOERHAR

=

rp = 6378.137 + 260.9 #ftH GEm) (km)

6 =047076 #irHAE (rad) 6=26.97242°

vX = 44257.98535 #[7 HEE (km/h)
vHr=0 # EEHE A MRE

vWr=0 # FIOREF EERE

AHr=0 # EEHEA RSN I RILF—
AVr=0 # RIDKREFEHRAERN T RILF—

Sa=0 #

#HR

a=0 #BH Ga=) (km)

Ba =0 #irHAE (rad) 6=26.97242°

va = 44257.98535 #BEHIRE (km/h)
vHa=0 # EXEMNEARRE
vWa=0 # FOKREARRE
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AHa=0 # EEHE A MBI T R ILF —
AVa=0 # RDEASH BT 2L+ —

Aa=0

HE BB

R=0 #iE GEsR) (km)

6R =0 #IRHAE (rad) 6=26.97242°

vVR =0 #B HERE (km/h)

VHR=0 # EEHETFEE

VVR=0 # HORAET FHRE

AHR=0 # EEEAEENTRILF—
AVR=0 # FUILREE S EEHTRILF—
AR=0

#
# T
#
def sayU(self):
print("Y¢E& ¢ = {0} km/h , FEHIR/ILF—EH U = {1} km/kg".format(self.c,self.U))

#

# ZH

#

def sayM(self):
print(")
print("XZEE M = %.5e kg"%(self.M))
print("thIkEE m = %.5e kg"%(self.m))
print("FHEME=E mp = %.5e kg"%(self.mp))
print("AKBG-HERREER Re = %.5e km"%(self.Re))
print("HIERFE r =%.5e km"%(self.r))
print(")
print("< R (T s) r>")
print("FEEE# ro = %.5e km"%(self.rp))
print("&RE vX = %.5e km/h"%(self.vX/3600))
print("AE 6 = %.5e E"%(self.0*180/math.pi))
print("EE (BEEHE) vHr = %.5e km/h"%(self.vHr/3600))
print("®RE (F/OKE) vWr = %.5e km/h"%(self.vVr/3600))
print("Tx (E¥#E) AHr = %.5e je"%(self.AHr))
print("Tx (F/OKE) AVr = %.5e je"%(self.AVr))
print(")
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a = %.be km"%(self.a))

va = %.5e km/h"%(self.va/3600))

Ba = %.5e E"%(self.0a*180/math.pi))
AHa = %.5e je"%(self.AHa))

AVa = %.5e je"%(self.AVa))

vHa = %.5e km/h"%(self.vHa/3600))
vVa = %.5e km/h"%(self.vVa/3600))

R = %.5e km"%(self.R))

VR = %.5e km/h"%(self.vR/3600))

OR = %.5e E"%(self. 6 R*180/math.pi))
AHR = %.5e je"%(self.AHR))

AVR = %.5e je/h"%(self.AVR))

VHR = %.5e km/h"%(self.vHR/3600))
VVR = %.5e km/h"%(self.vWR/3600))

print("< fR i (F3XEH) a>")
print("EEEE
print(""E&E
print("AE
print("TX (EX#E)
print("Tx® (FLKE)
print("RE (EX#E)
print(&E (FILKMA)
print("")
print("< i@ (RZERBH1XE) R>")
print("EEEE
print(""E&E
print("AE
print("TX (EX#E)
print("Tx® (FOLKE)
print("RE (EX#HE)
print(m&E (FLKEA)
print("")

#

#RE U7X

#

class Velocity:

cs=ConstSet()

#
# HIER N ERRE
#
def VxSep(self):
u = self. u (cs.m,cs.mp) # BHTEH
HT S
cs.VHr = cs.vX * math.cos(cs.0)  # EX#EAEERE

cs.vVr = cs.vX * math.sin(cs.6)

# PIODREE T FRE
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cs.AHr = self.A(cs.mp,cs.vHr) # BEHFEAAHPITRILF—

cs.AVr = self.A(cs.mp,cs.vVr) # RIODREERRAEBNIT RILF—

cs.Sa = cs.AvVr

e SN
cs.AVa = cs.Sa # F3EH(a) DERN T RILF—
cs.AHa = 2*cs.AVa # BEFFEHAAHPTRILF—

cs.vVa = self.v(cs.AVa,cs.mp)
cs.vHa = self.v(cs.AHa,cs.mp)

csa = u /cs.AVa # FREHEEHE (a)
cs.Aa = 2*cs.Sa + cs.AVr # X (a) DEIN T RI)LF—

cs.va = self.v(cs.Aa,cs.mp) # F3Eh(a) DEIM T RILF—
cs.fa = math.atan(cs.vVa/cs.vHa)

H EE
cs.AVR = cs.Sa # FOREEARBHTRILF—
cs.AHR = cs.Sa # EEHEAESHITRILFT—

cs.VVR = self.v(cs.AVR,cs.mp)
cs.VHR = self.v(cs.AHR,cs.mp)
cs.SR =cs.Sa/2

cs.R = u / (cs.SR) 2B ERE (a)
cs.AR = 2*cs.SR + cs.AVa HEB(a) DEM T RILF—
cs.VR = self.v(cs.AR,cs.mp) # FEBE @)DV ITRILF—

cs.6 R = math.atan(cs.vVR/cs.vHR)

RESEINITRILF—

H H H

def A(self,m,v):
return m*v*2 # A=mv/r2

#
# BEEFIRILF—>EE
#
def v(self,Am):
return (A/m)**0.5 # v=sgrt(A/m)

#
# BT RILE—
i
def S(self,M,m,r,n):
Em=m*cs.c™2 #Em =mp x c"2
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ac=cs.U*(M+m)
Sr=n*Em*ac/r
return Sr

#

# BENEH

#

def u (self, M,m):
Em =m * cs.c*?2
ac=cs.U*(M+m)
u = Em™*ac

return u
#
# Main Routine
#

cs = ConstSet()
vl = Velocity()

cs.sayU()
vI.VxSep()
cs.sayM()

#ac=Ux (m+ mp)
#Sr=Emxac/r

# Em =mp x c"2
#ac =U x (m + mp)
# u =Emxac

HEBER YT T A
HEE Y A

#FEENR]
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